ITI Turner 1st Year Module 6 Fits & limits

(1). What is the speed used for knurling? | Afef %W%Wﬁﬁwm
I 82

(A) % of turning speed | WRIG TTd BT %

(B) 1/3 of turning speed | WRIG Tfd B11/3

(C) Same as turning speed | WW&T%W
(D) Double the turning speed | W‘Tﬁfﬁm

Correct Answer : B

(2). What is the maximum clearance for hole and Shaft ? | 3feHay Heprt
fhaas foTT e SR e 82

; +0.021 , —-0.007
Hole size =20 4 yggand Shaftsize =20 5554

(A) 0.014 mm
(B) 0.027 mm
(C) 0.041 mm
(D) 0.021 mm

Correct Answer : C



(3). What type of fit is shown in figure? | &mﬁmWWW%@T&TW
g?

2

7277

(A) Tight fit | e3¢ fthe

(B) Transition fit | CifSTRI fthe
(C) Clearance fit | FIRY fthe
(D) Interference fit | 3eXb-g fthe

Correct Answer : D

(4). What is Knurling? | WW%?

(A) Forming operation | WIfHT Tfesar
(B) Cutting operation | e Afehdl

(C) Grooving operation | ‘;ﬂaﬂﬂm
(D) Finishing operation | To{ATRIT Tfdsar

Correct Answer : A

(5). How many grades of tolerances are represented in BIS system? | a%néfw

JoTTeR H WieWIdT & fan € &1 ufafAfia foear Sran g
(A) 12
(B) 15



(C) 18
(D) 25

Correct Answer : C

(6). What is the definition of fits? | fﬁo?srﬁtrﬁlnmw%?

(A) Maximum size of a dimension | Tdh TUTH ] 3YHdH THR

(B) Minimum size of a dimension | Udh HIUTH h[ YIdH HIPR
(C) Permissible deviation of a dimension | Uch 3T & Gﬂﬁﬁﬁﬂﬁ?
(D) Relationship that exist between two mating parts | & Sl gl AfdT y &b

o HvE ©

Correct Answer : D

(7). What is mass production? | a@ﬁﬂﬁm R ERTIT%?
(A) Producing work in pairs | Wﬁmm

(B) Producing a work in single piece | U d gcbé H Udh hH &1 fAmfor

(C) Producing an work in large numbers | dsnl I H Udh h[H P Ul

(D) Producing an work in limited numbers | T GBI H BT D JUIGd PRl

Correct Answer : C

(8). Calculate the upper deviation from the given data? | U¥Jd SIC] T3

ICENERIGCAISEE

+0.008
2 —-0.005

(A) -0.003



(B) -0.005
(C) 0.008
(D) 0.013

Correct Answer : C

(9). Which type of fit is obtain of the hole is bigger than the shaft? | @?m
YR &I fthe g o UTUe T §87 87

(A) Tight fit | e3¢ fthe

(B) Transition fit | CifoTRI fthe
(C) Clearance fit | FIIRY fthe
(D) Interference fit | St fthe

Correct Answer : C

(10). How external features of a component including which not cylindrical is

designated as per BIS? | BIS & WW SR CIRRL foRIvdrse & fhad
fam1 =71iere T8t fovam o geven?

(A) Fit | e

(B) Hole | ¥€

(C) Shaft | RIMKC

(D) Deviation | fage™

Correct Answer : C




(11). What is the knurling pattern? | I T Afei] aﬁ%?

(A) Cross | UR &Rl
(B) Concave | 3fddd
(C) Diamond | BRI
(D) Straight | 9

Correct Answer : C

(12). Which operation is used to increase the diameter of work slightly to get a

press fit? | WWWW%WW%W@WW%WW
TR &1 IGINT foaT ST g2

(A) Knurling | et
(B) Turning | T
(C) Punching | Gl
(D) Grooving | gfdT

Correct Answer : A



(13). What is the name of the tool? | QFTW:IWW%?

(A) Drilling tool |%A1%PT§F‘[
(B) Knurling tool |'_‘|'[%'f‘T§FT
(C) Boring tool | Ehﬁ"TE\FT
(D) Threading tool | Q’%"TQFT

Correct Answer : B

(14). What is the term if the difference between the maximum limit of size and

minimum limit of size? | HIY B ITdH AT GﬁTﬁW@Tﬂ% 3R B T
Hed 8?

(A) Limit of size | {TT &1 TIHT
(B) Basic size | J&l H@T1T
(C) Tolerance | TGS
(D) Zero line | I AT

Correct Answer : C

(15). How many fundamental deviation are in BIS system? | d’r&n‘s{’wwmﬁﬁ
fordm Hifere faee B



(A) 12
(B) 18
(C) 20
(D) 25

Correct Answer : D

(16). What is the purpose of knurling operation? | WWWE@WW%’P
(A) Good grip and appearances | &@W @Tﬁ'@a—d’

(B) Good surface finish | Wﬁ 33t i

(C) Deep hole | TR o5

(D) Under cut | 37€IhC

Correct Answer : A

(17). What is 6 in the given expression of fit 30H7/g6? | fioe 30H7/g6 Pl

31 | 6 T UeRid SRl g?

(A) Deviation of hole | Eﬂﬁw éIaQQI:I
(B) Deviation fit of shaft | RITUC hI élaqam fihe

(C) Grade of tolerance of hole | @T’[ﬁ SN HTIS
(D) Grade of tolerance of shaft | Wﬁﬂ%wwa@'

Correct Answer : D

(18). What is the maximum limit size of dimension 25 +0.003 - 0.001? | SHTUH

B 3fUHTH HHT SMBR 025 +0.003 - 0.001 FTG?

(A) 25.003 mm



(B) 25.001 mm
(C) 24.997 mm
(D) 24.999 mm

Correct Answer : A

(19). Which system of limits and fits are followed in our country? | BTI'IB\’%QTﬁ

forfiey 3R fihey &t forg YuITelt o1 UTer foran STaT 82
(A) BIS system | BIS JOITGIt
(B) DIN system | DIN UUTTG!
(C) BSS system | BSS YOIl
(D) FPS system | FPS UUITGl

Correct Answer : A

(20). What is knurling pattern? | Afefa ﬁz‘rfam%?

(A) Cross knurling | p1g Al

(B) Convex knurling | PHI-aag AfeHT
(C) Straight knurling | @\??ﬁ'ﬁf

(D) Concave knurling | PHIhd A

Correct Answer : C



(21). What is the speed used for knurling? | Afef %mmﬁﬁmm
ST 87

(A) % of turning speed | WRIG TTd BT %

(B) 1/3 of turning speed | WIS 7T PH11/3

(C) Same as turning speed | WIS T & SRR
(D) Double the turning speed | W‘Tﬁfﬁm

Correct Answer : B

(22). What is the maximum clearance for hole and Shaft ? | 3ff¥pdd b
fhereh forg &3 SR /M0 572

. ~5n+0.021 . »,n—0.007
Hole size =20, 5 yggand Shaftsize =20_5'554
(A) 0.014 mm
(B) 0.027 mm
(C) 0.041 mm
(D) 0.021 mm

Correct Answer : C



(23). What type of fit is shown in figure? | Wﬁmwmﬁb—d faaman
T §?

2

7277

(A) Tight fit | e3¢ fthe

(B) Transition fit | CifSTRI fthe
(C) Clearance fit | FIRY fthe
(D) Interference fit | 3eXb-g fthe

Correct Answer : D

(24). What is Knurling? | :I'I%ﬁTGTIT%?

(A) Forming operation | WIfHT Tfesar
(B) Cutting operation | e Afehdl

(C) Grooving operation | ‘;ﬂaﬂﬂm
(D) Finishing operation | To{ATRIT Tfdsar

Correct Answer : A

(25). How many grades of tolerances are represented in BIS system? | a:f\’rﬂg'@

JoTTeR H WieWIdT & fan € &1 ufafAfia foear Sran g
(A) 12
(B) 15



(C) 18
(D) 25

Correct Answer : C

(26). What is the definition of fits? | fﬁo?srﬁtr&lrrmw%?

(A) Maximum size of a dimension | Tdh TUTH ] 3YHdH THR

(B) Minimum size of a dimension | Udh HIUTH h[ YIdH HIPR
(C) Permissible deviation of a dimension | Uch 3T & Gﬂﬁﬁﬁﬂﬁ?
(D) Relationship that exist between two mating parts | & Sl gl AfdT y &b

o HvE ©

Correct Answer : D

(27). What is mass production? | a@ﬁmﬁw Sl EleT%?
(A) Producing work in pairs | Wﬁmm

(B) Producing a work in single piece | U d gcbé H Udh hH &1 fAmfor

(C) Producing an work in large numbers | dsnl I H Udh h[H P Ul

(D) Producing an work in limited numbers | T GBI H BT D JUIGd PRl

Correct Answer : C

(28). Calculate the upper deviation from the given data? | U¥dd SICI T3

ICENERIGCAISEE

+0.008
2 —-0.005

(A) -0.003



(B) -0.005
(C) 0.008
(D) 0.013

Correct Answer : C

(29). Which type of fit is obtain of the hole is bigger than the shaft? | @_Ciﬁ'm
YR &I fthe g o UTUe T §87 87

(A) Tight fit | e3¢ fthe

(B) Transition fit | CifoTRI fthe
(C) Clearance fit | FIIRY fthe
(D) Interference fit | St fthe

Correct Answer : C

(30). How external features of a component including which not cylindrical is

designated as per BIS? | BIS & WW SR CIRRL foRIvdrse & fhad
fam1 =71fere I8t fovam o qehdr?

(A) Fit | fe

(B) Hole | ¥C

(C) Shaft | RIMKC

(D) Deviation | fage™

Correct Answer : C




(31). What is the knurling pattern? | I T Afei] aﬁ%?

(A) Cross | UR &Rl
(B) Concave | 3fddd
(C) Diamond | BRI
(D) Straight | 9

Correct Answer : C

(32). Which operation is used to increase the diameter of work slightly to get a

press fit? | WWWW%WW%W@WW%WW
TR &1 IGINT fohaT ST g2

(A) Knurling | FIfefT
(B) Turning | Ef=T
(C) Punching | Gf=iTT
(D) Grooving | gfdT

Correct Answer : A



(33). What is the name of the tool? | QFTW:IWW%?

(A) Drilling tool |%A1%PT§F‘[
(B) Knurling tool |'_‘|'[%'f‘T§FT
(C) Boring tool | Ehﬁ"TE\FT
(D) Threading tool | Q’%"TQFT

Correct Answer : B

(34). What is the term if the difference between the maximum limit of size and

minimum limit of size? | HIY B ITdH AT GﬁTﬁW@Tﬂ% 3R B T
Hed 8?

(A) Limit of size | {TT &1 TIHT
(B) Basic size | J&l H@T1T
(C) Tolerance | TGS
(D) Zero line | I AT

Correct Answer : C

(35). How many fundamental deviation are in BIS system? | Eﬂ&ﬂ'sf'wmﬁ
CRERINCACENER



(A) 12
(B) 18
(C) 20
(D) 25

Correct Answer : D

(36). What is the purpose of knurling operation? | WWWB@'@W%’P
(A) Good grip and appearances | &@W @Tﬁ'@a—d’

(B) Good surface finish | Wﬁ 33t i

(C) Deep hole | TR o5

(D) Under cut | 37€IhC

Correct Answer : A

(37). What is 6 in the given expression of fit 30H7/g6? | fihe 30H7/g6 &t

31 | 6 T UeRid SRl g?

(A) Deviation of hole | Eﬂﬁw éIaQQI:I
(B) Deviation fit of shaft | RITUC hI élaqam fihe

(C) Grade of tolerance of hole | @T’[ﬁ SN HTIS
(D) Grade of tolerance of shaft | Wﬁﬂ%wwa@'

Correct Answer : D

(38). What is the maximum limit size of dimension 25 +0.003 - 0.001? | SHTUH

B 3fUHTH HHT SMBR 025 +0.003 - 0.001 FTG?

(A) 25.003 mm



(B) 25.001 mm
(C) 24.997 mm
(D) 24.999 mm

Correct Answer : A

(39). Which system of limits and fits are followed in our country? | BTI'IB\’%QTﬁ

forfiey 3R fihey &t forg YuITelt o1 UTer foran STaT 82
(A) BIS system | BIS JOITGIt
(B) DIN system | DIN UUTTG!
(C) BSS system | BSS YOIl
(D) FPS system | FPS UUITGl

Correct Answer : A

(40). What is knurling pattern? | Afefa ﬁz‘rfam%?

(A) Cross knurling | p1g Al

(B) Convex knurling | PHI-aag AfeHT
(C) Straight knurling | @\??ﬁ'ﬁf

(D) Concave knurling | PHIhd A

Correct Answer : C






